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01 | #include <stdio.h>

02 | #include <stdlib.h>

03 | #include <string.h>

04 | char* left(char* data, int len, const char symbol) {
05 int dLen = strlen(data);

06 char* result = (char*)malloc(dLen + 1);

07 if (len > dLen) len = dLen;

08 strcpy(result, data);

09 for (inti = len; i < dLen; i++) result[i] = symbol,
10 return result;

11 |}

12 | char* right(char* data, int len, const char symbol) {
13 int dLen = strlen(data);

14 char* result = (char*)malloc(dLen + 1);

15 if (len > dLen) len = dLen;

16 strcpy(result, data);

17 for (int i = (dLen-len); i < dLen; i++) result[i] = symbol;
18 return result;

19 |}

20 | void testGen() {

21 char str[] = "abcdef";

22 char* leftl = left(str, 4, '@");

23 char* left2 = left(str, 8, '@");

24 char* rightl = right(str, 4, '@");

25 printf("%s\n", leftl);

26 printf("%s\n", left2);

27 printf("%s\n", rightl);

28 free(leftl);

29 free(left2);

30 free(rightl);

31 |}

32 | intmain() {

33 testGen();

34 return O;

35 |}
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01 | abstract class Exercise { Il &
02 public Exercise(String name, int cal) {
03 this.name = name; .
04 this.calorie = cal; Exercise
05
06 abstract public void computeCal(int x);
07 public String show(int c) { —
08 String result = name+":";
09 computeCal(c); Running
10 result += calorie;
11 return result; distance
12
13 private String name;
14 protected int calorie; Il e+
16 | class Running extends Exercise { Il 85+ & & Climbing
17 public Running(String name, int cal, int dis) { level
18 super(name, cal);
19 distance = dis;
20
21 public void computeCal(int time) { calorie += distance*(10-time); } Human
22 private int distance;
23
24 | class Climbing extends Exercise { Il & L& $
25 public Climbing(String name, int cal, int lev) { —_—
26 super(name, cal);
27 level = lev*2;
28 }
29 public void computeCal(int height) { calorie += height*level*20; }
30 private int level;
31
32 | class Human {
33 public void setExercise(Exercise €) {exercise = e;}
34 public String getCal() { return exercise.show(2);}
35 private Exercise exercise;
36
37 | public class ExerciseTest {
38 public static void main(String[] args) {
39 Exercise [] exs = {new Running("marathon", 12, 26), // 5 >
40 new Running(“endurance”, 10, 5), // & i
41 new Climbing("Yushan", 30, 4)}; // % % &
42 Human h = new Human();
43 for (Exercise e: exs) {
44 h.setExercise(e);
45 System.out.printin(h.getCal());
46 }
47 }
48 |}
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<assign> | <id>=<_ (1) >
<id> (1)
<expr> <expr>__(lll)  <expr>

| <expr>__(IV) <expr>

|<_ (V) >
01 | defid_(s,i):
02 if i <len(s) and s[i] in (A", 'B','C"):
03 returni + 1, True
04 return i, False
05
06 | def expr(s, I):
07 I, ok =1id_(s, 1)
08 if not ok: return i, False
09 while i + 1 <len(s) and s[i] in ('+', ™*'):
10 I, ok =id_(s, i+1)
11 if not ok: raise Exception('id error’)
12 return i, True
13
14 | def assign(s, 1):
15 I, ok =1id_(s, 1)
16 if not ok or i >= len(s): raise Exception('id error’)
17 if s[i] '="=" raise Exception('not =")
18 I, ok = expr(s, i+1)
19 if not ok: raise Exception("expr error")
20 if i 1= len(s): raise Exception(‘end or expr error’)
21 print(‘ok’)
22
23 | def test(code):
24 try: assign(code, 0)
25 except Exception as e: print(e)
26
27 | test('B=C*B+A*A)
28 | test('B=C*B+D*A)
29 | test('B=C*B+A*")
30 | test('A-C*D+A++A))
31 | test(A=C*D+A++A")
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